Double-head kite

all length in this plan are without seam-addition
the plan has got 27 pages
you need ca. 50 m? rip-stop
the kite needs a wind-bag

copyright by Joachim NelliBen
only for private use
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here you must sew two ripstop - flaps

at the flaps you can connect the two heads
with a string.
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side 4

bridlepoints of the head

1< =bridle - points
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and so on

Iy S

7|W|w|||||| J
| bridlelinesdength |

' of the Head-bridle |
_ points

_

_._nmmon_.:
12=243 cm
_mummcna
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'5=250 cm
|6 =250 cm
' 7=243 cm
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15=253 cm
16 =248 cm
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Cut of the head

When you sew the cross - sections to the bottem - side of the head
don't forget the cord - enforcement for the bridle of the head.
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cord - enforcement
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the diameter of the ventilation - holes is 6 cm

all length in ( cm ) without seam - addition
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the left and right parts of the head
bodyside of the head you need part a.and b. two times
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red = ventilation - holes

blue = sew - lines
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the eyes
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all length without seam - addition the eyes and the noseholes side 6b

you need it four times
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you need it four times 1400
for each eye
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the nosehole
you need it four times




side 6¢

the horns
you need it two times
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all length in ( cm ) without seam - addition




length of the Head-bridle side 7
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the lenght of the lines 1 to 19 you can look at side 4
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the bridle-lines at the points 110 12
are all the same length of 150 cm

13 12 1 10 9 8 76 5 4 3 2 1

for example red bridle-lines
black ( ,
all bridle-lines are 150 cm  .*
red ff
1= 50cm ’

2=T75em blue 1=50cm
3=105¢cm 1=100cm 2=75¢cm
4=137cm 2= 544 cm 3=105¢cm
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6=210cm 5=173 cm
6=210cm




for example

the body with the tension-lines and the first bridle-lines

the tension-lines

for example the two heads

the two heads are connected by this strings

side 7b

tow of the twelve bodybridle-lines
they are all 150 cm long




The body parts , you need three equal parts from this to build the body

a bottom part and a left and right part.
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the wide length of the body part
1. =63.5¢cm
2. =55.0cm
3. =470cm
4. =50.0cm
5. =56.0cm
6. =62.0cm
7. =69.0cm
8. =720cm
9. =720cm
10. =68.0 cm
11. =61.0cm
12. =53.0cm
13. =47.0cm
14. =27.0cm
15. =15.0 cm
16. =12.0cm
17. =00.0cm

the wide Tength left and right
from the middle axis

1. =31.75¢cm
2. =27.5cm
3. =235¢cm
4 =250cm
5 =28.0cm
6. =31.0cm
7. =345cm
8. =36.0cm
9. =36.0cm
10. =34.0cm
11. =30.5cm
12. =26.5¢cm
13. =23.5¢cm
14. =13.5¢cm
15. = 7.5¢em
16. = 6.0cm
17. = 0.0cm
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for the end of the tail look at side 12 !l

all length without seam addition !
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The position of the fins at the right body part

all length in cm without seam addition
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side 8b

The body bottem side
for example
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the front-fin
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you need four pieces for the two front-fins, two for the bottom-side and two for the upper-side
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the position of the cross-sections of the frong-fin
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the back-fin side 10
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You need four pieces for the two back-fins,two for the bottom-side and two for the upper-side



side 10a

the position of the cross-sections of the back-fin
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bridle and tension-lines of the body  bottom-side

side 11

cord-enforcement for the tension-line inside of the bottom-side of the body ]
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b = bridle-points of the body
W ——g—-t-)._ all bridle-lines have the same length of 150 ¢m
ﬁ Q@ | distance between || | length of the tension-lines inside of the body from point 1 to 16
the bridle-points between upper and bottom-side.
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12\'5 10 b 11 and 12 = 48 cm

13and 14=44cm

15and 16=40cm




side 12

you need it three times
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sew it between the body-parts
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side 12a

sew-line
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sew it together to get a little windbag
do this with all pieces

you need it three times
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length between the middie-axis the position of the cord-enforcement of the left and right body-parts  gjde 13
and the tension-lines points for the tension-lines

(1)17.00 em (6)15.00 cm

(2)15.00 cm (7)15.00 cm

g :}ggg cm (8)15.00 cm cord-enforcement tension-lines points
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(5)16.00 cm left side
&« middle-axis
left toppside
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at this position you must sew a zipper (ca.60cm) in the topside
all length without seam addition !



the six bridle - lines
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Tﬁf You need six pieces
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all lenath in { cm ) without seam - addition
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